JAIST Repository

https://dspace.jaist.ac.jp/

Title goboooooooboooouooon
Author(s) oo, O

Citation

Issue Date 2004-03

Type Thesis or Dissertation

Text version

aut hor

/' 10119/ 1769

URL http:// hdl handl e. net
Rights
Description Supervisor: oo 04, ooo

godd gg

AIST

JAPAN
ADVANCED INSTITUTE OF
SCIENCE AND TECHNOLOGY

Japan Advanced Institute of Science and Technology



O o o 0

oot odguod
guoggod

gogbbooogbobobdad
ggbbboodobbboooon

oo

20040 30



O o o 0

oot odguod
guoggod

oooo Uodgd ad

oooooo O0ooOg od
oooo Uoob od
oooo U0 ooodd

gogbbooogbobobdad
ggbbboodobbboooon

2100030 0 0O O

goog: 20040 20

Copyright (© 2004 by Ishikawa Aya



010

020
2.1
2.2
2.3

030
3.1
3.2

040
4.1
4.2
4.3

Us50
5.1
5.2

5.3

5.4

060

ERERE

ERERE
goo
oo
goo
23.1
2.3.2

ERERE
goo
oo

ERERE

0

ggoobooog

I 0
I
I 0
8
I

gobbooogd
I 0
UOD0ODO0O .o

gogboog

CTLOOOO . ... s s s s s s,
CTL-formula . . . . . . . .

goo

OO0 .

crpoopooooooon
CLPOODO .. s e
CTLOOODOODO .. e e

0.2.1
0.2.2
5.2.3
0.2.4
oo
5.3.1
g

g

10) 2 AU
JN o
BEGF o oo
AGT o o
OO0 CTLOOOOOO0 « v oo e e
0000000000000+« o v e v e e

10
10
10
11

13
13
13
13
15
16
17
20
20
23

24



OO0AD00OD00ODO 26

Al

A2

A3

00000000000+« + v o eee e e 26
ALL OOOOOO00 ot ot e 26
A12 O0000000 « oo ot oot 27
CTL o\ oo e e 29
A21 EFEAFE AGE .« o oo 29
A2.2 BGE oo 31
AGEFF . o o 33
A31 00000000 « o0 oo e 33
A32 00000000 « oo ot oot 37

i



10 oo

godooboboooudooooooooooooooooooooouooooo
0000000000000 00000O00o0oooooOoOoOooDOoOoOoooODOOOO
godootboooooootuoodoooouooouoouooooooooooo
godododooouoodouooooouooooouoooooooooooon
gododdodotbooooudooooouoouoooooouooooouoooo
gododdodooooooouooooooooooooooooooooooann
gododotbdotudotdoouooooooouoouooonoooooouoao
gododdooodooduooooooooooooooooooonoouooooon
ogoooon
godooodoudodoodooooooooouooooouooooooooann
oo oooouoooouoooooouoooooooo
oo oouooooooouooooooooann
godotdoouoouoodooooooooouoouoooonoooooouoan
gododdodoodoodoooooooooouooooouoouoooooann
goouoooouao
gododddouodoudodooooooououoooooooooooooo
godoooobooooooooooooooooooooouoooooouooooo
godododooooooudoooooouoooooouooooooooan
00000000000000000 (CLP:Constraint Logic Programing) 0 0 0 0 00O
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CLPODODODOO0OOOOOOOOOO

CLPOOOPrologD 0O O0O0D0O0OOODOODOOOODOOODODOOODOODOOODO
0000000000000 00O0CLPOOOOOOOODO3000000 20100
0, 0000000000000 0000O0DOOoOLOO0o00ooDoOoOOoOOO0O00O cLpad
00dd0dooooooboobobooo0d000o0ooooooooo  cLpOooOooa
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OO000DO0DO0b00oobocLpOOUODO Keyed CLPOOODOO

0000 (Temporal logic) 0000000000000 O0O0O0OOOOOOOOOOOO
0000000 BOO0000O0000000000000o0oooooooooon
Ooooogmriod Pneeil 00 0O00OOO0O0O0OOO0ODOO0ODOODOOODOOODOO
000000000000000000000 CTL(Computation Tree logic) 0 0 0 00O
gbobogobodoobuogboboobuoobbuoobooobuoobooooboban
ooocLpO00oOoooOobObobOoooooonoobOonDn
gbogoboagbo20ddbggubouodgboogbogbogobo,goboobagd
00000000000.03000,00000000000 (CLP:Constraint Logic
Programing) 0000000000000 ,CLPO0O0OOOOOOOOOOOOOOO
000000400000000000000 CTL(Computation Tree logic) 0 0 00O
bbb booobobobobobobboooobbooobbon
CTLODOOO0DOO0O0ooODoobooboobobooobooboooocCcLpOobbOOoOO
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2.1

Jooooogoogood

0000000000 H = (Loc,Var, Lab, Edg, Act, Inv) 0000000000000

=

Obooboooboobooboobdd Locd

OooooboooboodVer.0oooooboo0»oobboooboon
xc€Var 0000 V(2)eROOOODDDOOODODOOO

O0O0O0000000 Lebd stutter 000 7€elab0 00000

0000000000000 BEdg.0000000¢€=(l,a,1,0)000000000
Ole€Locd000000000 €locd00000ac Lab000000000
£ CV20000000000000000000000!€ LocO000O(,T,1d,1)
00000 stutter 000000000000 1Id={(v,v)veV}

00 (,v)00000000¢ eVOO00O (v,0)epl00,00e0,0000
0ooo

00000000000l € Loc0000000000000000000 Act0D
000000000000000RX0000.0000000000000000
0000000000000000000000000000000000 € LocO
D000000f€Act(l),0000000¢teR00000(f+1)(#) € ActDO D
000000 ¢ eR2°0000 (f+4)(#) = f(¢+¢)00000000000000
l€Loc00000000f € Act()0000000 2z € VarOOODO f2(t) = f(t)(x)
0000 RX°00 ROOOOD f£0000

00 Inn0000000000000(l€ Loc000D00O0ODOO Inw(l)CVODOO
gooo

0000000000 HOOOOOOOO00000000000000001 € LocO
0000000 v e VOOOODOf(0)=+0000000000000000000
fEA()DODOOOD0O00000000D fO 0000
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Oo0dddVerOOOODOOOoOoOoooooOoOO Verooooooooooooooaao
VerOOGOOOOO0ODO0OVer OODODO0DO0D0ODODO0O0OOOOOOOOOODOOO
000000000 00O0O0OO00OO H = (Loc,Var,Lab, Edg, Act,Inv) 0000000
0oo0ooooooooooboooooobooboboo VerOOooooooooooag
goo,000o0od

1.00000000001I€ Loc0 0000000000 Act()004=k,00000
000000000000000000000000000000000000O0
00k e ROODODODOODOODOOOOOOOOOOOOwveVOOO ze VaerOOO
000000teRX00000

@i [v](t) = v(t) + kst

0000k, 0 Act(l,z) D00 0000000000000 20000000000
goobodo

2.000000000017€Loc000000DO0O0OO Inv()0VerODOOOO O
gbobogogobog

v=TInv(l)if fo(y)O

3.000000ee EdgU0DO0ODOODOOD pO0OO0OOO0OOOODODODODO
gooboooddg

= x:=[ay, Bl € Var
gog,0bobobobooooog
(v,0") € if fo(Y) ANV, € Varlv(a) < o'(z) <o(f)0

O000yp000000000000000ee, 0, 000000000, =p6,000
00 e00000 0000000000000 ple,z)=ae, 0000
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23.1 OJUOO0ooood

0000000000000 00000000000000 en/offO0000O00OODOO
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gbbboooobbbuoogbb1iobbuoooobbbbbbbodoenbiboogn
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gbbbuoodgobbougobbbuog1l1gbbbuoooobbbodudd engg
OO0000O0DbO0b1200000000000000 offO0D0O0ODOODOODODOD
gobooboogg
g210bodgobogbodgbbooboobgdsuilogobooboobogboan
O00on/off00000000000O0O0OOOOODODOOOODOOO1000000
OonO000000D00O203000ff00000000O c0000000000D00ODO
gboobdao

y =10

=0
Yy=2>5
T 0

U21:00000o0o00

23.2 OOOOOODO

gbbudgbbogbuooobobobboobbuoobobboobo2bbogobon
OOooboo0obOoooobooboog».0O0DDbOobOOOOobODOObDOD 00D
gbogbobuodbbodguogbooobugbbboobodgbuooboboobbon
gb200000uobodbogobuobuuubibodneddbogbbogn
ooooooobe, 0b0bbob0oboboobooboboooboobooroooogo
ooooogoe,0dey, 0000000000000 boobooboboOoo
HRN
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Temp=Tmin
x2:=0

Temp=Tmax [] x1>=T

Temp=Tmin
x1:=0

Temp<=Tmax Ox1<=T 0

Temp=Tmax]
x2>=T

U 2200000000
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3.1 UO00Oooooogoogn

0000000000000 Oprolog0 000000000 0ODOODOOOO (Constraint
Losic Proguram) 0 000 0000000000000 000OO0O0OOOOOOOOOOO
ctpO0D0OO0OD0ODOO0OOODOOODOOOODOOOUOOUOODDOUOODDOUOODOOO
gbogbodbbodgbooobuoguooboobboobboobuoooboobobon
gbobbuoodgo,ggbboooobbobbobooobobbbooobbbooon
gogboodbbbbggbuogobuoobbuoobooobooboobboobobon
O000000000000000 RI0CLPO00OODOOODOOOOODOOOOOODOO
OOoo0oooooooooboooocLpOoob0bOobDO0bO0ObOO0ObOobObDOoDbOD
ooboooobooooooobooboobooooooboooooooooogoogon cLp
O0000 Keyed CLPODOODOO

3.2 U0O0OOoOoono

0000000000000 00000000000000 en/offO0000O00OODOO
OO0oO0booboobobobooboobooooooDooobogoffon,0by0bnOOn
gbobobod20ggoobogooobbbuooub onggbob 1o
gbbboooobbbuoogbb1iobbuoooobbbbbbbodoenbiboogn
goobooooobbooilog12obbugooboboogooobobboooon
OO00o00obOobOoooobooboooobooooooboUboffdbooboo 200D
gbobbuogoobbougobbbouogiligbbbuoooobbboddd ondgd
OOo0oooobobi2ooboboobooboobogooU offibbbOObOObOODOn
goboooddg

Oo0o00ooooOoooboobo0oooooDobo0oobD ADBODOOOODDOODODAOO
OOo00obobo0opODbUODOO0OOO0OODODODODODOUODUODODOODOOCLPO
gbobboogobbbooobbbboooboooobbbooobobbbuooobo



10(X, Y, T, TT, [A, Bl):-
X1 =X+D, YI=Y+D, D> 0,
Y1 = A,
spec(Y1),
11(0, Y1, T + D, TT, [A, Bl).

spec(Y):- 1 <= Y, Y <= 12.

l

x:=1

g3l o0o0u0gaooo

LoooooooooooooLoDOo0o0000OLDy00000000y<=A0000
gobooboboboboboobdzsbyb0Db0DLO0O0O00D0d 21 =24+Dyl=y+D
OO0O0000O000o0oobobboy0 ADODODOODDOODOzO00DODOODOODO
O00 L0000 L1I000000Ospec(Y)OODOOODODOOOOODODODOOOOOODOO
goboboooogoboobuoooobobodooob boooooobobbooooo
gbobbuooogbbbuoooobbboooon

e JOI0OOOOODOODODCLPODOOOIDIDODODODLO

e CLlPOODDOOODOODOLOLODOLOOUDOODOLODOLODOODODODOO
goo

e 0OUOODLDLDOUOOODLDODOUOOUOLDDOLOOUOLDLDUOODLDLDbDUOODLDDO
gbgdgobbougooboboggobi1iobboogobobbuooooobooboog
gbbouooobboooobbboooob

0000000000000 0A1.100)

| ?- 100, 1, O, TT, [A, BI).
TT = 13 - _35 + _49

A=10 - _35

B =12 - _35 -2 % _49



11 -2 % _49 - _35 >=0
2 x 49 + 35 >=0

7 -2 % _49 - 35 >=0

4 + 2 % _49 + _35 >=0
0 <= _3 <=9

0 <= _49

g3s0d0d49b00doboooooagooon
Oo0O0O00O00DOO00b0DOOo0 ADODODOBODODOODOOODDOODOOO

| ?- max(TT, 10(0, 1, O, TT, [A, Bl)).

TT = 16.5
A =10
B=25

OoOoooooTrooooo0ooooooo0ooooooOoobD A=100B=50
ooooboooboobooboTroboobuoobooboobooooTTODO
gbbbuoooobbbooobbbboooon

g 32000040000
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4.1 CTLOUOOO

00000000000 300000000 CTL(Computation Tree Logic) D O 00O
gbogbobodoobuoobobodbuoobboobuooobooboooobbon
ooocLpOO000O00OO0O0ODODOOOOODOODODODbDObOOObOODO

4.2 CTL-formula

e 000000 DDOODOODOONDOONOOONOOD (00000000 ay,---2,
0000000000000000000000000000000000000
0¢t0000¢q= (L, -,2,;t) 0000000000000 ¢00000000
LOC(¢)0¢q0000 TIME(¢)000O

e OUUODLOOUUOOUDLDOUOODLDLDUOUOLDDLDLUOUODLbLDbDUOOUbLDLDO
O@:l=1lx+2,>=5))00000000000000000 APOOOOO
oooooobobbl=000000000000

e U DUUUOOUOUOOODDDLODLDDOUOUUUUUUnext time JODODOOOU
gboboooogon
— 0ugogd

*» J0u0gogoboobooaon

« £1,£,00000000000-f,fiAfoDAV fofi —» 0000000
000

«+¢00000000000,E04,0000000000
-~ goooo
« 1,0 ,000000000C0FfOGfO0fiUf,0000000000C

gbobouogooobobodogo

- g
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EFf000 0000000000000
AFf0000D00O00,00 f000000

EGf000 00000000000

« AGF0ODODO0DODOOD fO000000

E[fUf.] (00000000000 f,0000000000)

*

*

*

CTLOODDOOOO000DOO0000O0D0DO0O0 EGOODO EOD0DDOOOO0DOOOn
goooooooood

EF f= E[trueU f]

AF f=—EG~f

AGfE—lEF—lf

AlfUgl==[~gU(=fA~g)]\"EG—g

e 100000000000000D00000000000000TS =(Q,— Qo)
00000000000QO00000000RCQxQO0O00000000
00000000000000000000000Q, 0000000000000
00000000000000000000000 ¢€Q,0000000000
o—q—q@p—---000000000
0000 LO0O00D000L-000000000000 TS<;, = (Q<r, —<1, Qo, V)
0000Q., 000000 LO000TSO00000000LO000000000
000000000000000000000000O0(@0O00000000000
0000000000000)

0000 L0000000CTLOOO f(f,000)0000000000000
TSy 0000000000 AF,, /00000000 10000000000 f0O
0000000000000

4.3 OO0OO0OOOO

TS, 0000000000000000000000000000000007TS<;,0
000000000000000000000000CLPO0D0O0000000O
0000000000000 0000000000000C0CTLO0000000000
000000000000000000000000

TS, 0000000000000000000000000000000000000
0000000 (TS<,)000000=000000

2000000000 m =66, 80000 7 =, 6%, - pP 0oy =
p(Oi=1,2,--- kO00DDO00D000m= m000000000M(TS<,) 000000
0000000000000000000000000000000000000000
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HEN
O0000000000000TS,00000000000000000000O00O0O
godotddodotboootuoooouoodoboooouooooooouooooo
gdodooououooououooooouoooao
Jo0doddbooodobooodobo0oooouodonodw =60y = 40wy = 30
Tmax=150Tmin=30Temp=90 0007 000000000000 O00OOOOOOOO
O0dooooool=L,0000Temp<1000000000000O0O0ODOOOO0O
ogoooon

0) =lp,xy =T, x5 =T, Temp=9

U 41: 0000000bbobooogoboon
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050 CLPUOOOUOOOONONOMO

5.1 CLPOUOU

crpO000000O0OO0O0ODOOOODOODOODOOOODOUODUODOUODOODOO
ClpO 100000000DODODODOOOOOOOLOOOODODODODODO
gboogboobboobboobuoobuoobuoobouboobooooboboon
gbobboooobbbogoboboogobobuooboboboogoobooo
ctpO0bOO0OO0O0OO0OO0OO0OOOOOOOOOOOOOOOOOOOOODOODODOOO
gooobdad

5.2 CTLUOUOOOOO

42000000000000000000O000O0DOOOODO,DODOOOO0ODO0OO
gobobogoooo.

5.2.1 EFf

ggbbbooobbbboooobbbooobobbob
gbooboogobbobuogogbobooogoobob.bbboogo 20b0b0o0on
Oob0.000bo0oobooboobboy0boooboooboo.obogb o,0000D
gobobbboogooobobuooodoo.goooooboooooooboobo.2
gbboogobbuooogbboug,guouobbbvwewddgdbbbog.oggn
00000 theta,, 0O O0O0D0DOODODOOODO.O00O0OO0DO0OOOTODOOOODOO
oo.00e, 0060, 000000000000000O0O0O0OOODODODOO.
EFfO0000000 fOO000D00OO00OD00OO0O0DMODODOObOODO fO f=130
Dooobbogooooboboboboboboobuoobooboobobobd TmaxO
TminODOOOOOO

00000000 LO20000000000000000000((CDOOA2.100)
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Temp=Tmax ] x1>=T

Temp=Tmin
x1:=0
Temp=Tmin

x2:=0 Temp<=Tmax Oxl<=T [

Temp=Tmax{]
x2>=T

gsl:000g0aooo

14



| ?- max(A, go(A, B, 500, 200)).
A 1309.523708
B 500.000000

AD TmaxOOOOBO TminOOOOOOO
gobbobuogobbboogoboo

Tmin Tmax
O 52 0000

5.2.2 AFf

0000000000000 b0ODUODAFfOODODODODODOODO fO
O000mMOoo0o0ooO0f=i00i0200000AF=(=1[00102)000000000
O0bDobooboooobood TmaxU TminODOOOOOoOooonO
oooocLpOoboboOobOobOobO0bOobO0bOobOobOOobOobDOoboobDOobOoD
gobooodgo

AFf =-E(-Ff)=-E(G-f)

OOo0obo0ooobof0b00b0 -0O00000b00O0- fOO00DbOObO0OODbDbOOD
OoooboboboooogoogonD foO

gooo

DoOooooboooboobobobboobDh TmaxO TminOO0OO0O00O0O00DO0O
OO0000000 TmaxOTminOOO0O00- fOO000OO0OOCOOOODOOODOOOOO
OO0o00bOoboboobooooonDgD fO0000 TmaxOTminOOOOOOOODO
00000 LO0000000000000000((@OOA2100)

7- max(A, go(A, B, 500, 200)).
1309.523708
500.000000

I
A
B

AD TmaxOOOOBO TminOOOOOOO
gobbobuogobbboogoboo
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% )

Tmin Tmax
053 0000

5.2.3 EGf

gbbodbuogbobuoobbooboboobboobbooboobboobobon
Oooboooboboooboboobobobooboboboboborekosbbonooobo
OO0bOobO0obO00ob000U0bDUOEGfOODOODOO fOOOODODODODOImODO
O0f=I100100000EG(=10,/1)00000000000000odiooO0O0O
TmaxO Tmin OO0 OO0OOOOOOOOLO20000000000000000000O

Temp=Tmin
x1:=0

Temp:TmaX Temp:TmaxD
0 x2<=T
x2>=T

shutdown

0s54: 000000000

| ?- max(A, go(A, B, 500, 200)).
A=7300

B=500-_14

0<=_14<=500

16



A0 TmaxOOOOBO TminOOOOOODOOOODO 40000000

5.2.4 AGf

OooooooooOoooboAGfOO0OOOoO0O0UoODOOOO0 fODDOODmMmOOOD
f=001020 0000AG(l=/00102)0 0000000000000 0000O0OO0OO
U0 TmaxUO TminO O O0O00000O0O0
OO000DbO0bO0o0AFfO0O00O0OO0ODOODOODODOOODOO

AGf = —B(-Gf) = ~E(F~f)

oooooo0obb fO0b0O000 -0000000O0ODO-fODODODOOOOOOD
HEN
gbbboodgbobbooobobbbuoogn

-f = (1 =13)

goo.

Doooooouooboooubobob0 TmaxDTminOOOOO0OODOODOOOO
OO000000 TmaxOTminOOO0O0O0O- fOO00D000OO0ODOOODODOOODOOOOO
OO00oboboooooboDbobO fOD000 TmaxO TminO DO OO O
0000000000000 0A2100)
OoOOoO0Lb2000000000000000D0O0OO

| ?- max(A, go(A, B, 500, 200)).
1309.523708
500.000000

W =
n

A0 TmaxOOOOBO TminOOOOOODO
goboobuogobobboogoboo

% )

Tmin Tmax
0 os.5: 0o
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5.3 U0O0O0OOCTLOUOUOOOOO

42000000000CTLO00000000000ERf=E[fUf|0EGFfO000D
0oOoooooooo

DO0O0O0O0O0E[fU f]0 EGf0000000000O0O0OODOOOOOOOOOOOO
ooooo

e EGfUUOODODOOUDOODOUDOD fOUDODLDOUDUULDDODOLODODOO
o0 Lgbobobobooboobd

e E[fiU f,]00000000000000 f4,00000000000000000
00000 LOO0OD f£,0000000000000000

0000000000000 0000000000000000 (r1,rg,--+,r) 0000
fO000000¢0O000 fO0O0O0O0ODOOOODOOODO R(f,q)DOODODOOOOOO
0000 f000¢000000000000 (r1,r,---,7m) 0 R(f,q) 00000000
0000 00000000 (r,r,---,7)0 R(f,q)0000000000000000
D0D00000D00000000- fO00000R(f,q) 0000000 R(f,q)°
O0000000000R(f,q)00000000000O0D0ODOODOOOO0OOOOOO
Keyed CLPOOOOOOOOOODOOOOOOOOOOR(f,q)c0000000000O
O00000O00OO0OR(f,q) DOOODDOOODOOOD 0000000000000 rx0Ory
gogd

R'(f,q) :== {(r1i,ro, -+, rm)| Vi (ry < rpxvrd <)}
O00O00R(f,q°CR(f,¢°000000
guoodoooobobbbbboooodooouobobbbbbboooooooog

5.3.1 UJUUOOoboooooon

0000000000000 AG[l =1, — EFgsl =1y

(00 LOOD0O0D000DO0LO00000000500000004,0000000
000D0000)000000000TO0000000000000000000000
000000000

~ EF|l=00- EFl =12

00000000

EF_10(X1, X2, Temp, TT) :-
D >= 0, vr(: Vr),
EF_10_next(X1 + D, X2 + D, Temp + Vr * D, TT + D).

20



EF_10_next (X1, X2, Temp, TT) :-
L(: L), TT <= L,

TM(: Temp),

T(: T), X1 >= T,

EF_11(X1, X2, Temp, TT).
EF_10_next (X1, X2, Temp, TT) :-
L(: L), TT <= L,

TM(: Temp),

T(C: T), X2 >= T,

EF_12(X1, X2, Temp, TT).

EF_11(X1, X2, Temp, TT) :-
D >= 0,vi(: V1),
EF_11 next(X1 + D, X2 + D, Temp - V1 * D, TT + D).

EF_11_next (X1, X2, Temp, TT) :-

L(: L), TT <= L,

EF2(X1, X2, Temp, 0). /*Checking EF_{<= 5} 1 = 12} x/
EF_11_next (X1, X2, Temp, TT) :-

L(: L), TT <= L,

Tm(: Temp),

EF_10(0, X2, Temp, TT).

EF_12(X1, X2, Temp, TT) :-
D >= 0,v2(: V2),
EF_12_next(X1 + D, X2 + D, Temp - V2 * D, TT + D).

EF_12_next (X1, X2, Temp, TT) :-
L(: L), TT <= L,

Tm(: Temp),

EF_10(X1, 0, Temp, TT).

EF2(X1, X2, Temp, TT):-

current_state(: [X1, X2, Temp, TT]),

range ([T],

(T(: T), current_state(: [X1, X2, Temp, TT]), EF2_11(X1, X2, Temp, TT)),
[TMin], [TMax]),

T(: T), negate(T, TMin, TMax), solve.

21



negate(T, infeasible, _):- !.

negate(T, _, infeasible):- !.

negate(T, unbounded, unbounded):- !, fail.
negate(T, TMin, unbounded):- !, T < TMin.
negate(T, unbounded, TMax):- !, T > TMax.
negate(T, TMin, TMax):- !, (T > TMax; T < TMin).
go(T, L):-

vr(: 6), vi(: 4), v2(: 3),

T™(: 15), Tm(: 3), Temp(: 9),

L(: L),

T(: T), T >= 0,

range([T], (T(: T), Temp(: Temp), EF_10(T, T, Temp, 0)), [TMin], [TMax]),
negate(T, TMin, TMax).

EF0100)0 EFy 4]l = A — EFy sl = L0000 TO0000000000000
EF2)00000000000000EF, 5 =,000070000000 EF20 I1()
0 max()Omin() 00000000 7T00000000000000000000000
00000000

range() 0 Keyed CLPO00000000000000000000O000O

range([var_1, ..., var_nl, goal, [Min_1, ..., Min_n], [Max_1, ..., Max_n])

000000gal 0000000000000 ver; 0000 Min;, 000 Maz; 000
0000gal0000000000000000000000000000000000
0oooo

000D0go(T,L)00 EFJl=hA— EFl=1,]0000 700000000000
0oooo

00000000 LO00000000000000

|7 go(T,30).
T=7-_18
0<_18<=7
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obooborobooobooooboobobbobo oboooobuooboobg
DoObo<T<7oooorooooonog

54 0O

gbboogbougbboobuoobobobobuoobuoobboobuoobooooban
gbooboogn

y y
Tmax- -7 Tmax--[77
Tmax 177 Tmax-- Wi
Tmin. .| % Tmin. .-
Tmin % x Tmin = ] -
. _Tmin Trﬁax . ,Tmin Trﬁax
Tmin Tmin

0 5.10:

gbbodgbbooboboobboobobobboobbuoobobooboouobn
googboodbbodgbobobbo,ggbboobobuoooboobobooooboon
gbobboogbobbobooobbboooboboo
gbouogobodgbuodggbbogbuogbbooboobobobboobooooboan
gboobogobobuoobbuodgbboobooobuodobbuoobobbooboon
gbobbuooobbobogoobobooooboboooobboboooon
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el OUO

OO0000000000000000000000000000000000000A0
OoOO0000000ooooooooobOoO0o0oboooooobooooooboobobDOOonn
OoO0000obo000oooooooooobooboooooooooooooOOoOobOOn
00000000000000000 (CLP:Constraint Losic Programing) 0 0 000 O
Oob0ooOooooooooobooooooooon
OooObO0oboooooobbooooooooooooooooOoDODOObObObObObObObOOn
Ooooooooooo
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gboooobooboobooboobobooboomm
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O OA 00000

gbobbuoooobbbuoooobbob

Al J00O0Oooooooo

A1l 0O00OOOOOO

10(X, Y, T, TT, [A, Bl):-
X1 =X+D, YLl =Y+D, D>0,
Y1 = A,
spec(Y1),
11(0, Y1, T + D, TT, [A, BI).

11(X, Y, T, TT, [A, Bl):-
X1 =X+D, YLl =Y+D, D>0,
X1 = 2,
spec(Y1),
12(X1, Y1, T + D, TT, [A, Bl).

12(X, Y, T, TT, [A, Bl):-
X1 =X+D, Yl =Y-2=x%D, D> 0,
Y1 = B,
spec(Y1),
13(0, Y1, T + D, TT, [A, B]).

13(X, Y, T, T + D, [A, Bl):-
X1 =X+D, Yl =Y-2=x%D, D> 0,
X1 =2,
spec(Y1).

spec(Y):- 1 <= Y, Y <= 12.
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Al12 OOOOODOOO

10(s, X1, X2, Temp, TT) :-

D >= 0, param_vr(: Vr),

Xlnew = X1 + D, X2new = X2 + D, Tempnew = Temp + Vr * D,
(shutdown(S, Xlnew, X2new, Tempnew);

10_next (S, Xlnew, X2new, Tempnew, TT + D)).

10_next (S, X1, X2, Temp, TT) :-

param_L(: L), TT > L,

param_A(: A), Temp <= A,

write("STEP: "), write(S), write(" finished."), nl, fail.
10_next (S, X1, X2, Temp, TT) :-

param_L(: L), TT <=L,

param_A(: Temp),

param_T(: T), X1 >= T,

write("STEP: "), write(S), write(" -> 11 "), nl,
11(S + 1, X1, X2, Temp, TT).

10_next (S, X1, X2, Temp, TT) :-

param_L(: L), TT <=L,

param_A(: Temp),

param_T(: T), X2 >= T,

write("STEP: "), write(S), write(" -> 12 "), nl,
12(S + 1, X1, X2, Temp, TT).

shutdown (S, X1, X2, Temp):-

param_A(: Temp),

param_T(: T), eps(: EPS), X1 <= T - EPS, X2 <= T - EPS,
write("STEP: "), write(S), write(" shutdown."), nl.

11(S, X1, X2, Temp, TT) :-
D >= 0,param_vi(: V1),
11_next(S, X1 + D, X2 + D, Temp - V1 * D, TT + D).

11_next(S, X1, X2, Temp, TT) :-
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param_L(: L), TT > L,

param_B(: B), Temp >= B,

write("STEP: "), write(S), write(" finished."), nl, fail.
11_next(S, X1, X2, Temp, TT) :-

param_L(: L), TT <= L,

param_B(: Temp),

write("STEP: "), write(S), write(" -> 10 "), nl,

10(s + 1, 0, X2, Temp, TT).

12(s, X1, X2, Temp, TT) :-
D >= 0,param_v2(: V2),
12_next(S, X1 + D, X2 + D, Temp - V2 * D, TT + D).

12_next(S, X1, X2, Temp, TT) :-

param_L(: L), TT > L,

param_B(: B), Temp >= B,

write("STEP: "), write(S), write(" finished."), nl, fail.
12_next(S, X1, X2, Temp, TT) :-

param_L(: L), TT <=L,

param_B(: Temp),

write("STEP: "), write(S), write(" -> 10 "), nl,

10(s + 1, X1, 0, Temp, TT).

/ 0O0O0Oogo =/

eps(: 0.00001).
param_T(: _).

param_vr(: _).
param_v1(: _).

param_v2(: _).

param_A(: _).
param_B(: _).
param_L(: _).

go(A, B, Temp, L):-
param_T(: 80),

param_vr(: 34),
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param_v1(: 25),

param_v2(: 10),

param_A(: A),

param_B(: B),

B > 0, A > B, Temp <= A, Temp >= B,
param_L(: L),

10(0, 80, 80, Temp, 0).

A.2 CTL
A.2.1 EFf,AFf, AGf

10(X1, X2, Temp, TT) :-

D >= 0, param_vr(: Vr),

Xinew = X1 + D, X2new X2 + D, Tempnew = Temp + Vr * D,
(13(X1new, X2new, Tempnew);

10_next(Xlnew, X2new, Tempnew, TT + D)).

10_next (X1, X2, Temp, TT) :-
param_L(: L), TT > L,
param_A(: A), Temp <= A,
write(" finished."), nl, fail.
10_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_A(: Temp),

param_T(: T), X1 >= T,

write(" -> 11 "), nl,

11(X1, X2, Temp, TT).

10_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_A(: Temp),

param_T(: T), X2 >= T,
write("STEP: "), write(" -> 12 "), nl,
12(X1, X2, Temp, TT).

13(X1, X2, Temp):-
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param_A(: Temp),
param_T(: T), eps(: EPS), X1 <= T - EPS, X2 <= T - EPS,

write(" shutdown."), nl.

11(X1, X2, Temp, TT) :-
D >= 0,param_vi(: V1),
11 _next(X1 + D, X2 + D, Temp - V1 * D, TT + D).

11_next (X1, X2, Temp, TT) :-
param_L(: L), TT > L,
param_B(: B), Temp >= B,
write(" finished."), nl, fail.
11_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_B(: Temp),

write(" -> 10 "), nl,

10(0, X2, Temp, TT).

12(X1, X2, Temp, TT) :-
D >= 0,param_v2(: V2),
12_next(X1 + D, X2 + D, Temp - V2 * D, TT + D).

12_next (X1, X2, Temp, TT) :-
param_L(: L), TT > L,
param_B(: B), Temp >= B,
write(" finished."), nl, fail.
12_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_B(: Temp),

write(" -> 10 "), nl,

10(X1, 0, Temp, TT).

/* 0O0OooooOg =/
eps(: 0.00001).
param_T(: _).

param_vr(: _).

param_v1(: _).
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param_v2(: _).
param_A(: _).
param_B(: _).
param_L(: _).

/* Go */

go(A, B, Temp, L):-

param_T(: 80),

param_vr(: 34),

param_vi(: 25),

param_v2(: 10),

param_A(: A),

param_B(: B),

B >= 0, A >= B, Temp <= A, Temp >= B,
param_L(: L),

10(80, 80, Temp, 0).

A.2.2 EGf

10(X1, X2, Temp, TT) :-

D >= 0, param_vr(: Vr),

Xlnew = X1 + D, X2new = X2 + D, Tempnew = Temp + D * Vr,
10_next(Xlnew, X2new, Tempnew, TT + D).

10_next (X1, X2, Temp, TT) :-
param_L(: L), TT > L,
param_A(: A), Temp <= A,
write(" finished."), nl, fail.
10_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_A(: Temp),

param_T(: T), X1 >= T,
write(" -> 11 "), nl,

11(X1, X2, Temp, TT).
10_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
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param_A(: Temp),
param_T(: T), X2 >= T,
write(" -> 13 "), nl,
13(X1, X2, Temp, TT).

11(X1, X2, Temp, TT) :-
D >= 0,param_vi(: V1),
11 _next(X1 + D, X2 + D, Temp - V1 * D, TT + D).

11_next (X1, X2, Temp, TT) :-
param_L(: L), TT > L,
param_B(: B), Temp <= B,
write(" finished."), nl, fail.
11_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_B(: Temp),

param_T(: T),

write(" -> 10 "), nl,

10(0, X2, Temp, TT).

11_next (X1, X2, Temp, TT) :-
param_L(: L), TT <= L,
param_B(: Temp),

param_T(: T),

write(" -> 12 "), nl,

12(X1, 0, Temp, TT).

13(X1, X2, Temp, TT) :- shutdown.
12(X1, X2, Temp, TT) :- shutdown.

shutdown :- write("NG."), nl.

/* 0000000 =/

param_T(: _).

param_vr(: _).
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param_v1(: _).

param_A(: _).
param_B(: _).
param_L(: _).

go(A, B, Temp, L):-

param_T(: 80),

param_vr(: 34),

param_vi(: 25),

param_A(: A),

param_B(: B),

B >= 0, A >= B, Temp <= A, Temp >= B,
param_L(: L),

10(80, 80, Temp, 0).

A.3 AGEFf

A3.1 0O00OOOOOO

EF_10(X1, X2, Temp, TT, [T]) :-
D >= 0, param_vr(: Vr),
write("EF_10."),nl,
EF_10_next(X1 + D, X2 + D, Temp + Vr * D, TT + D, [T]).

EF_10_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT > L,
param_TM(: TM), Temp <= TM, fail.
EF_10_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <=L,
param_TM(: Temp),
X1 >=T,

write("EF_10_next-11."), nl,
EF_11(X1, X2, Temp, TT, [T]).
EF_10_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <=L,
param_TM(: Temp),
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X2 >=T,
write("EF_10_next-12."), nl,
EF_12(X1, X2, Temp, TT, [T]).
EF_10_next (X1, X2, Temp, TT, [T]):-
param_L(: L), TT <= L,
param_TM(: Temp),
eps(: EPS), X1 <= T - EPS, X2 <= T - EPS,
write("EF_10_next-13."), nl,
EF_13(X1, X2, Temp, TT, [T]).

EF_11(X1, X2, Temp, TT, [T]) :-
D >= 0,param_v1(: V1),
write("EF_11."), nl,
EF_11 next(X1 + D, X2 + D, Temp - V1 x D, TT + D, [T]).

EF_11_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT > L,
param_Tm(: Tm), Temp >= Tm, fail.
EF_11_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <= L - 10,
write("EF_11_next-EF2."), nl,
EF2(T, X1, X2, Temp, TT).
EF_11_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <= L,
param_Tm(: Temp),
write("EF_11_next-10."), nl,
EF_10(0, X2, Temp, TT, [T1).

EF_12(X1, X2, Temp, TT, [T]) :-
D >= 0,param_v2(: V2),
write("EF_12."), nl,
EF_12_next(X1 + D, X2 + D, Temp - V2 x D, TT + D, [T]).

EF_12_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT > L,

param_Tm(: Tm), Temp >= Tm, fail.
EF_12_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <= L,
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param_Tm(: Temp),
write("EF_12_next-10."), nl,
EF_10(X1, O, Temp, TT, [T]).

EF_13(X1, X2, Temp, TT, [T]):- fail.

EF2(T, X1, X2, Temp, TT):-
current_state(: [X1, X2, Temp, TT]),
max (T,
(T >= 0, current_state(: [X1, X2, Temp, TT]), EF2_11(X1, X2, Temp, TT, [T])),
TMax) ,
write("EF2_1."), nl,
(unify(TMax, infeasible);
min(T,
(T >= 0, current_state(: [X1, X2, Temp, TT]), EF2_11(X1, X2, Temp, TT, [T1)),
TMin),
write("EF2_2."), nl,
(T < TMin;
(unify(TMax, unbounded); TMax < T)
)
), L.

EF2_10(X1, X2, Temp, TT, [T]) :-
D >= 0, param_vr(: Vr),
write("EF2_10."), nl,
EF2_10_next(X1 + D, X2 + D, Temp + Vr x D, TT + D, [T]).

EF2_10_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT > L,
param_TM(: TM), Temp <= TM, fail.
EF2_10_next(X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <= L,
param_TM(: Temp),
X1 >=T,

write("EF2_10_next-11."), nl,
EF2_11(X1, X2, Temp, TT, [T]).
EF2_10_next (X1, X2, Temp, TT, [T]) :-
param_L(: L), TT <= L,
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param_TM(: Temp),
X2 >=T,
write("EF2_10_next-12."), nl,
EF2_12(X1, X2, Temp, TT, [T]).
EF2_10_next (X1, X2, Temp, TT, [T]):-
param_L(: L), TT <=L,
param_TM(: Temp),
eps(: EPS), X1 <= T - EPS, X2 <= T - EPS,
write("EF2_10_next-13."), nl,
EF2_13(X1, X2, Temp, TT, [T]).

EF2_11(X1, X2, Temp, TT, [T]) :-
D >= 0,param_v1(: V1),
write("EF2_11."), nl,
EF2_11_next(X1 + D, X2 + D, Temp - V1 x D, TT + D, [TI]).

EF2_11_next(X1, X2, Temp, TT, [T]) :-

param_L(: L), TT > L,

param_Tm(: Tm), Temp >= Tm, fail.

EF2_11_next (X1, X2, Temp, TT, [T]) :-

param_L(: L), TT <=L,

param_Tm(: Temp),
write("EF2_11_next-10."), nl,

EF2_10(0, X2, Temp, TT, [T]).

EF2_12(X1, X2, Temp, TT, [T]) :-
D >= 0,param_v2(: V2),
write("EF2_12."), nl,
EF2_12_next(X1 + D, X2 + D, Temp - V2 * D, TT + D, [T]).

EF2_12_next(X1, X2, Temp, TT, [T]) :-

param_L(: L), TT > L,

param_Tm(: Tm), Temp >= Tm, fail.

EF2_12_next (X1, X2, Temp, TT, [T]) :-

param_L(: L), TT <=L,

param_Tm(: Temp),
write("EF2_12_next-10."), nl,

EF2_10(X1, 0, Temp, TT, [T]).
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EF2_13(X1, X2, Temp, TT, [T1).
/* Result */

result (T, infeasible, _):- !, fail.

result (T, unbounded, unbounded):- !.

result (T, unbounded, TMin):- !, T < TMin.

result (T, TMax, unbounded):- !, T > TMax.

result (T, TMax, TMin):- !, (T > TMax; T < TMin).

/ 0O0O0Oogo =/

eps(: 0.00001).
param_T(: _).
param_vr(: _).
param_v1(: _).
param_v2(: _).
param_TM(: _).
param_Tm(: _).
param_Temp(: _).

param_L(: _).
current_state(: _).

go(T, L):-

param_vr(: 6), param_v1i(: 4), param_v2(: 3),

param_TM(: 15), param_Tm(: 3), param_Temp(: 10),

param_L(: L), T >= 0,

max(T, (T >= 0, param_Temp(: Temp), EF_10(T, T, Temp, O, [T])), TMax),
min(T, (T >= 0, param_Temp(: Temp), EF_10(T, T, Temp, O, [T])), TMin), !,
result (T, TMax, TMin).

A3.2 ODOOOODOOO

EF_10(X, Y, TT, [T]) :-
D >= 0, param_vi(: V1),
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EF_10_next(X + D, Y + V1 x D, TT + D,

EF_10_next(X, Y, TT, [T1) :-
param_L(: L), TT > L,

param_TM(: TM), Y <= TM, fail.

EF_10_next (X, Y, TT, [T]) :-
param_L(: L), TT <= L,
param_TM(: Y),

EF_11(0, Y, TT, [T]).
EF_10_next (X, Y, TT, [TI])
param_L(: L), TT <= L,
param_TM(: Y),

EF_12(0, Y, TT, [T1).

EF_11(X, Y, TT, [T]) :-
D >= 0,param_v2(: V2),

EF_11 _next(X + D, Y + V2 *x D, TT + D,

EF_11_next(X, Y, TT, [TI])
param_L(: L), TT > L, fail.
EF_11_next(X, Y, TT, [TI])
param_L(: L), TT <= L - 10,
EF2(T, 0, Y, TT).
EF_11_next(X, Y, TT, [T])
param_L(: L), TT <=L,

X =2,

EF_13(0, Y, TT, [T1).

EF_12(X, Y, TT, [T]) :- fail.

EF_13(X, Y, TT, [T]):-
D >= 0,param_v3(: V3),

EF_13_next(X + D, Y - V3 *x D, TT + D,

EF_13_next(X, Y, TT, [T]) :-
param_L(: L), TT > L,

param_Tm(: Y), Y >= Tm, fail.
EF_13_next(X, Y, TT, [T]) :-
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param_L(: L), TT <= L,
param_Tm(: Y),
EF_10(0, Y, TT, [T]).

EF2(T, X, Y, TT):-

current_state(: [X, Y, TT]),

max (T,

(T >= 0, current_state(: [X, Y, TT]), EF2_11(X, Y, TT, [T1)),
TMax) ,

(unify(TMax, infeasible);

min(T,

(T >= 0, current_state(: [X, Y, TT]), EF2_11(X, Y, TT, [T1)),
TMin) ,

(T < TMin;

(unify(TMax, unbounded); TMax < T)

)

), L.

EF2_10(X, Y, TT, [T]) :-
D >= 0, param_vi(: V1),
EF2_10_next(X + D, Y + V1 *x D, TT + D, [T]).

EF2_10_next(X, Y, TT, [T]) :-
param_L(: L), TT > L,
param_TM(: TM), Y <= TM, fail.
EF2_10_next(X, Y, TT, [T]) :-
param_L(: L), TT <= L,
param_TM(: Y),

EF2_11(0, Y, TT, [T]).
EF2_10_next(X, Y, TT, [T]) :-
param_L(: L), TT <= L,
param_TM(: Y),

EF2_12(0, Y, TT, [T]).

EF2_11(X, Y, TT, [T]) :-

D >= 0,param_v2(: V2),
EF2_11 next(X + D, Y + V2 x D, TT + D, [T]).
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EF2_11_next(X, Y, TT, [T]) :-
param_L(: L), TT > L, fail.
EF2_11_next(X, Y, TT, [T]) :-
param_L(: L), TT <= L,

X =2,

EF2_13(0, Y, TT, [TI).

EF2_12(X, Y, TT, [T]).

EF2_13(X, Y, TT, [T]):-
D >= 0,param_v3(: V3),
EF2_13_next(X + D, Y - V3 * D, TT + D, [TIl).

EF2_13_next(X, Y, TT, [T]) :-
param_L(: L), TT > L,
param_Tm(: Y), Y >= Tm, fail.
EF2_13_next(X, Y, TT, [T]) :-
param_L(: L), TT <=L,
param_Tm(: Y),

EF2_10(0, Y, TT, [T]).

/* Result x/

result (T, infeasible, _):- !, fail.

result (T, unbounded, unbounded):- !.

result (T, unbounded, TMin):- !, T > TMin.

result (T, TMax, unbounded):- !, T < TMax.

result (T, TMax, TMin):- !, (T < TMax; T > TMin).

/ 0O0O0Oogo =/

param_T(: _).
param_v1(: _).
param_v2(: _).
param_v3(: _).

param_TM(: _).
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param_Tm(: _).
param_T(: _).
param_L(: _).

current_state(: _).

go(T, L):-

param_v1(: 1), param_v2(: 1), param_v3(: 2),
param_TM(: 10), param_Tm(: 1),

param_L(: L), T >= 0,

max(T, (T >= 0, EF_10(0, T, 0, [TI)), TMax),
min(T, (T >= 0, EF_10(0, T, 0, [T])), TMin), !,
result (T, TMax, TMin).
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